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Ql Pile settlement

19 attempts, Average mark 14.33/20 (72%), Maximum 19, Minimum 6.
Not a very popular question, but in general well answered by most students. Most students coped well
with superposing settlement troughs of the four piles, but did not comment on the settlement trough
for the raft in part (d).
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Q2 Pile design

29 attempts, Average mark 13.93/20 (70%), Maximum 18, Minimum 6.
A very popular question, being answered by almost all students. The calculations in parts b & c were
well tackled with only minor arithmetic errors. The descriptive parts (a) and (d) were of variable quality
with some very complete answers and some lacking the detail needed for the marks on offer. That said,
even the shorter answers tended to be along the right lines.
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Q3 Square footing design

25 attempts, Average mark 13.12/20 (65.6%), Maximum 16.5, Minimum 6.5.
This was a popular question. Only 3 students recognised that the design factors should be applied either
to load or strength properties, not to both. Most students were able to use Fadum’s chart correctly to
estimate load increase in the soil, but a number of them used the factored load, instead of the unfactored
one. About half of the students could not calculate consolidation settlements correctly.
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Q4 M-V loading on shallow foundation

18 attempts, Average mark 11.83/20 (59.17%), Maximum 17, Minimum 6.
As in problem 3, students applied both design factors at once. A few applied one of the factors, and chose
either to decrease strength or increase load, but only one checked both cases. Students seemed confused
by the fact that the proposed sizing was not adequate. Most students correctly identified the procedure
to handle M-V loading.



